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1. Below is a diagram of a cell organelle

X
Y
(i)   Name the part labeled Y.








 (1 mark)
………………………………………………………………………………………………………………...

(ii) State the function of the part labeled X. 






(1 mark)
………………………………………………………………………………………………………………...

2. What is the function of the following cell organelle? 

(a) Golgi apparatus.









(2 marks)
………………………………………………………………………………………………………………
………………………………………………………………………………………………………………
………………………………………………………………………………………………………………

(b) Ribosome  









(1 mark)
………………………………………………………………………………………………………………...……………………………………………………………………………………………………………………………………………………………………………………………………………………………

3.   Why is oxygen important in the process of active transport in cells? 


(2 marks)
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………i) What happens to red blood cells when placed in concentrated solution? 


(2 marks)
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………...

ii) Why is it that xylem vessels do not collapse even when they do not contain water? 
(1 mark)
………………………………………………………………………………………………………………...

………………………………………………………………………………………………………………...

………………………………………………………………………………………………………………...

4. Below is a dental formula of a given animal
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With reasons identify the mode of feeding.






 (3 marks)
Mode- 
………………………………………………………………………………………………………………...

Reasons – 
………………………………………………………………………………………………………………...

………………………………………………………………………………………………………………...

………………………………………………………………………………………………………………...

5. i) Why are some enzymes secreted in their precursor form? 




(2 marks)
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
ii) Name two functions of bile juice in digesting food.





 (2 marks)
………………………………………………………………………………………………………………………………………………………………………………………………………………………………
………………………………………………………………………………………………………………..
6. How does sunken stomata reduce rate of transpiration? 




(2 marks)
………………………………………………………………………………………………………………

………………………………………………………………………………………………………………

………………………………………………………………………………………………………………
7. a) What type of circulatory system is found in members of class insecta? 


(1 mark)
………………………………………………………………………………………………………………...……………………………………………………………………………………………………………………………………………………………………………………………………………………………
         b) Name the blood vessel that transports blood from:



(i) Small intestine to liver. 








(1 mark)


…………………………………………………………………………………………………………….

      

ii) Lungs to heart  









(1 mark)


……………………………………………………………………………………………………………..

9. 
Distinguish between natural and acquired immunity. 





(2 marks)
………………………………………………………………………………………………………………...……………………………………………………………………………………………………………………………………………………………………………………………………………………………

10.
 a) A cat weighing 6kg requires 210kj while a mouse weighing 50g requires 2736kj per day. Explain 













(2 marks)
………………………………………………………………………………………………………………...……………………………………………………………………………………………………………………………………………………………………………………………………………………………

   
b)  Give the end products of respiration in animals where oxygen supply is insufficient.
 (1 mark)
………………………………………………………………………………………………………………...……………………………………………………………………………………………………………………………………………………………………………………………………………………………

11. 
a) Name the brain part that triggers sweating. 






(1 mark)
………………………………………………………………………………………………………………

   
b) Explain why sweat accumulates on a person’s skin in a hot humid environment. 

(2 marks)
………………………………………………………………………………………………………………...……………………………………………………………………………………………………………………………………………………………………………………………………………………………

12. 
a) Give two ways by which the skin prevent entry of microorganisms into the body. 
(2 marks)
………………………………………………………………………………………………………………...……………………………………………………………………………………………………………

b) What is the importance of deamination in excretion and homeostasis? 


(1 mark)     
………………………………………………………………………………………………………………...……………………………………………………………………………………………………………

13. 
a) Name two characteristics of monera unique to the kingdom. 



(1 mark)
………………………………………………………………………………………………………………...……………………………………………………………………………………………………………………………………………………………………………………………………………………………


 b) State the class to which spiders belong. 






(1 mark)
………………………………………………………………………………………………………………

14. 
Name the organism that causes cholera and state two precautionary measures to prevent cholera outbreak. 













(3 marks)
Organism- …………………………………………………………………………………………………..
Measures- 
………………………………………………………………………………………………………………...……………………………………………………………………………………………………………

15. 
Give two reasons why primary productivity decreases with increase in depth in an aquatic ecosystem. 













(2 marks)
………………………………………………………………………………………………………………...……………………………………………………………………………………………………………………………………………………………………………………………………………………………

16.
 a) State why sexual reproduction is important in organisms. 




(2 marks)
………………………………………………………………………………………………………………...……………………………………………………………………………………………………………


  b) What are the disadvantages of self pollination?





 (2 marks)
………………………………………………………………………………………………………………...……………………………………………………………………………………………………………………………………………………………………………………………………………………………

17. 

Give 3 causes of low viability in seed. 






(3 marks)
………………………………………………………………………………………………………………...……………………………………………………………………………………………………………………………………………………………………………………………………………………………
………………………………………………………………………………………………………………
18. 
Name two advantages of metamorphosis to the life of insects. 



(2 marks)
………………………………………………………………………………………………………………...……………………………………………………………………………………………………………………………………………………………………………………………………………………………
19. 
What are the characteristics of a meristematic cell.





(4 marks)
………………………………………………………………………………………………………………...……………………………………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………..

………………………………………………………………………………………………………………
20.
a) Give 2 examples of sex linked trait found in human on Y and X chromosome

 (2 marks)

………………………………………………………………………………………………………………...……………………………………………………………………………………………………………………………………………………………………………………………………………………………
       b) Define an allele as used in genetics. 







(1 mark)
………………………………………………………………………………………………………………...……………………………………………………………………………………………………………………………………………………………………………………………………………………………

21. Distinguish between divergent and convergent evolution giving an example. 


(4 marks)
………………………………………………………………………………………………………………...……………………………………………………………………………………………………………………………………………………………………………………………………………………………
………………………………………………………………………………………………………………
22. What are the functions of the following structures in an ear?

 a)  Ear osicles 










(2 marks)
………………………………………………………………………………………………………………...……………………………………………………………………………………………………………………………………………………………………………………………………………………………

b) Auditory nerves.
………………………………………………………………………………………………………………...……………………………………………………………………………………………………………………………………………………………………………………………………………………………

23. Mutiso is unable to read history textbook held at arm’s length but read clearly at normal length.


a) Identify the defect he is suffering from. 






(1 mark)
………………………………………………………………………………………………………………...……………………………………………………………………………………………………………………………………………………………………………………………………………………………


b) Why was he unable to read the book clearly at arm length?




 (1 mark)
………………………………………………………………………………………………………………...……………………………………………………………………………………………………………


c) How can the defect be corrected? 







(1 mark) 
………………………………………………………………………………………………………………...……………………………………………………………………………………………………………

24. Maggots when exposed to light move to dark area.

    a) Give the name of the response exhibited by the maggots. 




(1 mark)
………………………………………………………………………………………………………………

     b) What are the advantages of the response to the maggots? 




(2 marks)
………………………………………………………………………………………………………………...……………………………………………………………………………………………………………………………………………………………………………………………………………………………

25. Name three structural differences between biceps muscles and gut muscles? 


(3 marks)
………………………………………………………………………………………………………………...……………………………………………………………………………………………………………………………………………………………………………………………………………………………

26. The diagram below represents a mammalian bone.
(a) Identify the bone. 









(1 mark)
………………………………………………………………………………………………………………...……………………………………………………………………………………………………………………………………………………………………………………………………………………………

(b) Which bones articulate with the bone shown in the diagram at the notch? 

(2 marks)
…………………………………………………………………………………………………………

27.   (i) Name the process that leads to addition or loss of one or more  chromosomes. 
(1 mark) ………………………………………………………………………………………………………………

(ii) State the benefits of polyploidy in plants to a farmer.



 (3 marks) ………………………………………………………………………………………………………………...……………………………………………………………………………………………………………………………………………………………………………………………………………………………
28. Identify the substance that accumulates in muscles if respiration occurs with insufficient oxygen.


………………………………………………………………………………………………..
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